



Some application of higher order sine function

T. Bindhu ^{1*} and G. Dominic Babu ²

Abstract

In this paper, develop certain properties of sine function. We find the higher order difference operator value of sine function. Suitable examples are inserted to illustrate the main results.

Keywords

Difference operator, factorial polynomial, sine function, inverse difference operator, extorial function.

AMS Subject Classification

39A13, 33E12, 35K05.

^{1,2}Department of Mathematics, Annai Velankanni College Tholayavattam, Kanyakumari-629157, India. Affiliated to Manonmaniam Sundaranar University, Abishekapatti, Tirunelveli-627012.

*Corresponding author: ¹ bindhu.libin@yahoo.com ; ² dominicbabu202@gmail.com

Article History: Received 14 October 2020; Accepted 21 December 2020

©2020 MJM.

Contents

1	Introduction	2320
2	Higher Order Sine function	2320
3	Conclusion	2321
	References	2322

1. Introduction

The properties of difference equations is depends on the operator Δ defined as $\Delta u(k) = u(k+1) - u(k), k \in N(0)$. The difference equations in a different direction. The difference operator Δ denoted by Δ_l and its inverse operator Δ_l^{-1} . We obtain higher order difference operator and inverse operator values.

2. Higher Order Sine function

Definition 2.1. The l - sine function denoted as

$$\sin(k_l^{(m)}) = k_l^{(m)} - \frac{k_l^{(3m)}}{3!} + \frac{k_l^{(5m)}}{5!} - \frac{k_l^{(7m)}}{7!} + \dots + \infty, \quad (2.1)$$

where $|l| \leq 1$ and $n, k \in \mathbb{R}$.

Lemma 2.2. If $|l| \leq 1$ and k real variable, then the following holds.

$$\begin{aligned} (i) \sin(k_0^{(1)}) &= \sin k & (ii) \sin((-k)_l^{(1)}) &= -\sin(k_{-l}^{(1)}) \\ (iii) \sin((-k)_l^{(1)}) &= -\sin(k_l^{(1)}) & (iv) \sin(k_2^{(m)}) &= \sum_{t=0}^{\infty} (-1)^t \frac{k^{m(2t+1)}}{(2t+1)!} \end{aligned}$$

Proof. (i) We have $\sin(k_l^{(m)}) = k_l^{(m)} - \frac{k_l^{(3m)}}{3!} + \frac{k_l^{(5m)}}{5!} - \frac{k_l^{(7m)}}{7!} + \dots + \infty \dots$

$$\sin(k_0^{(1)}) = k_0^{(1)} - \frac{k_0^{(3)}}{3!} + \frac{k_0^{(5)}}{5!} - \frac{k_0^{(7)}}{7!} + \dots + \infty$$

$$\sin(k_0^{(1)}) = \sin k$$

$$(ii) \sin((-k)_l^{(1)})$$

$$\sin((-k)_l^{(1)}) = (-k)_l^{(1)} - \frac{(-k)_l^{(3)}}{3!} + \frac{(-k)_l^{(5)}}{5!} - \frac{(-k)_l^{(7)}}{7!} + \dots + \infty$$

$$= -k_{-l}^{(1)} + \frac{k_{-l}^{(3)}}{3!} - \frac{k_{-l}^{(5)}}{5!} + \frac{k_{-l}^{(7)}}{7!} - \dots + \infty$$

$$\sin((-k)_l^{(1)}) = -[k_{-l}^{(1)} - \frac{k_{-l}^{(3)}}{3!} + \frac{k_{-l}^{(5)}}{5!} - \frac{k_{-l}^{(7)}}{7!} + \dots + \infty]$$

$$\sin((-k)_l^{(1)}) = -\sin(k_{-l}^{(1)})$$

$$(iii) \sin((-k)_l^{(1)}) = -\sin(-k_l^{(1)})$$

$$\sin((-k)_l^{(1)}) = -k_{-l}^{(1)} + \frac{-k_{-l}^{(3)}}{3!} - \frac{-k_{-l}^{(5)}}{5!} + \frac{-k_{-l}^{(7)}}{7!} + \dots + \infty$$

$$= -k_l^{(1)} + \frac{k_l^{(3)}}{3!} - \frac{k_l^{(5)}}{5!} + \frac{k_l^{(7)}}{7!} + \dots + \infty$$

$$= -[k_l^{(1)} - \frac{k_l^{(3)}}{3!} + \frac{k_l^{(5)}}{5!} - \frac{k_l^{(7)}}{7!} + \dots - \infty]$$

$$\sin((-k)_l^{(1)}) = -\sin(k_l^{(1)})$$

$$(iv) \sin(k_0^{(2)}) = k_0^{(2)} - \frac{k_0^{(6)}}{3!} + \frac{k_0^{(10)}}{5!} - \frac{k_0^{(14)}}{7!} + \dots + \infty \dots$$

$$= k^2 - \frac{k^{(6)}}{3!} + \frac{k^{(10)}}{5!} - \frac{k^{(14)}}{7!} + \dots + \infty \dots$$

$$= \sum_{t=0}^{\infty} (-1)^t \frac{k^{2(2t+1)}}{(2t+1)!}$$

$$\sin(k_0^{(3)}) = k_0^{(3)} - \frac{k_0^{(9)}}{3!} + \frac{k_0^{(15)}}{5!} - \frac{k_0^{(21)}}{7!} + \dots + \infty \dots$$

$$= k^3 - \frac{k^{(9)}}{3!} + \frac{k^{(15)}}{5!} - \frac{k^{(21)}}{7!} + \dots + \infty \dots$$

$$= \sum_{t=0}^{\infty} (-1)^t \frac{k^{3(2t+1)}}{(2t+1)!}$$

Similarly,

$$\sin(k_0^{(4)}) = \sum_{t=0}^{\infty} (-1)^t \frac{k^{4(2t+1)}}{(2t+1)!}$$

In general,

$$\sin(k_0^{(m)}) = \sum_{t=0}^{\infty} (-1)^t \frac{k_0^{t(2t+1)}}{(2t+1)!}$$

□

Lemma 2.3. If $|l| \leq 1, m \geq 1$ and k real variable, the $\sin(k_l^{(m)}) =$

$$\sum_{t=0}^{\infty} (-1)^t \frac{k_l^{m(2t+1)}}{m(2t+1)!}$$

Proof. We have $\sin(k_l^{(m)}) = k_l^{(m)} - \frac{k_l^{(3m)}}{3!} + \frac{k_l^{(5m)}}{5!} - \frac{k_l^{(7m)}}{7!} + \dots +$

$$\sin(k_1^{(1)}) = k_1^{(1)} - \frac{k_1^{(3)}}{3!} + \frac{k_1^{(5)}}{5!} - \frac{k_1^{(7)}}{7!} + \dots + \infty$$

$$= \sum_{t=0}^{\infty} (-1)^t \frac{k_1^{2t+1}}{(2t+1)!}$$

$$\sin(k_2^{(2)}) = k_2^{(2)} - \frac{k_2^{(6)}}{3!} + \frac{k_2^{(10)}}{5!} - \frac{k_2^{(14)}}{7!} + \dots + \infty$$

$$= \sum_{t=0}^{\infty} (-1)^t \frac{k_2^{2(2t+1)}}{2(2t+1)!}$$

$$\sin(k_3^{(2)}) = k_3^{(3)} - \frac{k_3^{(9)}}{3!} + \frac{k_3^{(15)}}{5!} - \frac{k_3^{(21)}}{7!} + \dots + \infty$$

$$= \sum_{t=0}^{\infty} (-1)^t \frac{k_3^{3(2t+1)}}{3(2t+1)!}$$

In general,

$$\sin(k_l^{(m)}) = \sum_{t=0}^{\infty} (-1)^t \frac{k_l^{m(2t+1)}}{m(2t+1)!}$$

□

Lemma 2.4. If $|l| \leq 1$ and $k > 0$, we have $\Delta_l(\sin(k_l^{(m)})) =$

$$mlk_l^{(m-1)} \left[1 - \frac{(k-(m-1)l)_l^{(2m)}}{2!} + \frac{(k-(m-1)l)_l^{(4m)}}{4!} - \frac{(k-(m-1)l)_l^{(6m)}}{6!} + \dots + \infty \right]$$

Proof. From the definition (2.1) we have

$$\sin(k_l^{(m)}) = k_l^{(m)} - \frac{k_l^{(3m)}}{3!} + \frac{k_l^{(5m)}}{5!} - \frac{k_l^{(7m)}}{7!} + \dots + \infty$$

Taking Δ_l on both sides, we get

$$\Delta_l(\sin(k_l^{(m)})) = \Delta_l \left[k_l^{(m)} - \frac{k_l^{(3m)}}{3!} + \frac{k_l^{(5m)}}{5!} - \frac{k_l^{(7m)}}{7!} + \dots + \infty \right]$$

$$\Delta_l(\sin(k_l^{(m)})) = ml \left[k_l^{(m)} - \frac{k_l^{(3m)}}{3!} + \frac{k_l^{(5m)}}{5!} - \frac{k_l^{(7m)}}{7!} + \dots + \infty \right]$$

(2.2) We have, $k_l^{(m-1)} = k(k-l)(k-2l) \dots (k-(m-2)l)$

$$k_l^{(3m-1)} = k_l^{(m-1)}(k-(m-1)l) \dots (k-(3m-2)l)$$

$$k_l^{(5m-1)} = k_l^{(m-1)}(k-(m-1)l)_l^{(2m)}$$

$$\text{Similarly, } k_l^{(5m-1)} = k_l^{(m-1)}(k-(m-1)l)_l^{(4m)}$$

$$k_l^{(7m-1)} = k_l^{(m-1)}(k-(m-1)l)_l^{(6m)}$$

Substituting these values in equation (2.2), we get,

$$\Delta_l(\sin(k_l^{(m)})) = mlk_l^{(m-1)} \left[1 - \frac{(k-(m-1)l)_l^{(2m)}}{2!} + \frac{(k-(m-1)l)_l^{(4m)}}{4!} - \frac{(k-(m-1)l)_l^{(6m)}}{6!} + \dots + \infty \right]$$

(2.3)

□

Theorem 2.5. If $|l| \leq 1, k > 0$ and $n \neq m$, we have

$$\Delta_l^n(\sin(k_l^{(m)})) = ml^n k_l^{(m-n)} \sum_{t=0}^{\infty} ((2t+1)m-1)((2t+1)m-2) \dots ((2t+1)m-(n-1)) \frac{(k-(m-n)l)_l^{2tm}}{(2t)!}$$

Proof. By lemma (2.3)

$$\Delta_l(\sin(k_l^{(m)})) = ml \left[k_l^{(m-1)} - 3 \frac{k_l^{(3m-1)}}{3!} + 5 \frac{k_l^{(5m-1)}}{5!} - 7 \frac{k_l^{(7m-1)}}{7!} + \dots + \infty \right]$$

$\dots + \infty$]

Taking Δ_l on both sides, we get

$$\Delta_l^2(\sin(k_l^{(m)})) = \Delta_l \left[ml \left(k_l^{(m-1)} - 3 \frac{k_l^{(3m-1)}}{3!} + 5 \frac{k_l^{(5m-1)}}{5!} - 7 \frac{k_l^{(7m-1)}}{7!} + \dots + \infty \right) \right]$$

$$\Delta_l^2(\sin(k_l^{(m)})) = ml^2 \left[(m-1) \left(k_l^{(m-2)} - (3m-1) \frac{k_l^{(3m-2)}}{2!} + (5m-1) \frac{k_l^{(5m-2)}}{4!} - (7m-1) \frac{k_l^{(7m-2)}}{6!} + \dots + \infty \right) \right]$$

(2.4) Then,

$$\Delta_l^2(\sin(k_l^{(n)})) = nl^2 k_l^{(n-2)} \left[(n-1) - ((3n-1) \frac{(3n-1)(k-(n-2)l)_l^2}{2!} + (5n-1) \frac{(5n-1)(k-(n-2)l)_l^{(4n)}}{4!} - (7n-1) \frac{(7n-1)(k-(n-2)l)_l^{(6n)}}{6!} + \dots + \infty) \right]$$

Again taking Δ_l on both sides in (2.4) we get, $\Delta_l^3(\sin(k_l^{(m)})) =$

$$\Delta_l \left[ml^2 \left((m-1) \left(k_l^{(m-2)} - (3m-1) \frac{k_l^{(3m-2)}}{2!} + (5m-1) \frac{k_l^{(5m-2)}}{4!} - (7m-1) \frac{k_l^{(7m-2)}}{6!} + \dots + \infty \right) \right) \right]$$

$$\Delta_l^2(\sin(k_l^{(m)})) = ml^3 \left[(m-1)(m-2)lk_l(m-3) - (3m-1)(3m-2)l \frac{k_l^{(3m-3)}}{2!} + (5m-1)(5m-2)l \frac{k_l^{(5m-3)}}{4!} + (7m-1)(7m-2)l \frac{k_l^{(7m-3)}}{6!} + \dots + \infty \right]$$

(2.5)

We have $k_l^{(3m-3)} = k(k-l) \dots (k-(m-4)l)(k-(m-3)l) \dots (k-(3m-4)l)$

$$k_l^{(3m-3)} = k_l^{(m-3)}(k-(m-3)l)_l^{(2m)}$$

$$\text{Similarly, } k_l^{(5m-3)} = k_l^{(m-3)}(k-(m-3)l)_l^{(4m)}$$

$$k_l^{(7m-3)} = k_l^{(m-3)}(k-(m-3)l)_l^{(6m)}$$

Substituting these values in (2.5) we get,

$$\Delta_l^3(\sin(k_l^{(m)})) = ml^3 \left[(m-1)(m-2)lk_l^{(m-3)} - (3m-1)(3m-2)l \frac{k_l^{(m-3)}(k-(m-3)l)_l^{(2m)}}{2!} + (5m-1)(5m-2)l \frac{k_l^{(m-3)}(k-(m-3)l)_l^{(4m)}}{4!} - (7m-1)(7m-2)l \frac{k_l^{(m-3)}(k-(m-3)l)_l^{(6m)}}{6!} + \dots + \infty \right]$$

$$\Delta_l^3(\sin(k_l^{(m)})) = ml^3 k_l^{(m-3)} \sum_{t=0}^{\infty} (-1)^t ((2t+1)m-1)((2t+1)m-2) \frac{(k-(m-3)l)_l^{2tm}}{(2t)!}$$

Similarly,

$$\Delta_l^4(\sin(k_l^{(m)})) = ml^4 k_l^{(m-4)} \sum_{t=0}^{\infty} (-1)^t ((2t+1)m-1)((2t+1)m-2) \frac{(k-(m-4)l)_l^{2tm}}{(2t)!}$$

In general,

$$\Delta_l^m(\sin(k_l^{(m)})) = ml^m k_l^{(m-n)} \left[(m-1)(m-2) \dots (m-(n-1)) - (3m-1)(3m-2) \dots (3m-(n-1)) \frac{(k-(m-n)l)_l^{(2m)}}{2!} + (5m-1)(5m-2) \dots (5m-(n-1)) \frac{(k-(m-n)l)_l^{(4m)}}{4!} - (7m-1)(7m-2) \dots (7m-(n-1)) \frac{(k-(m-n)l)_l^{(6m)}}{6!} + \dots + \infty \right]$$

$$\text{ie) } \Delta_l^n(\sin(k_l^{(m)})) = ml^n k_l^{(m-n)} \sum_{t=0}^{\infty} ((2t+1)m-1)((2t+1)m-2) \dots ((2t+1)m-(n-1)) \frac{(k-(m-n)l)_l^{2tm}}{(2t)!}$$

□

3. Conclusion

We have derived solutions of higher order difference equations by introducing trigonometric function. Several properties can



be arriving apply these functions.

References

- [1] M. Maria Susai Manuel, G. Britto Antony Xavier and E. Thandapani, Theory of Generalized difference operator and its Applications, *For East Journal of Mathematical Sciences*, 20(2)(2006), 1–10.
- [2] G. Britto Antony Xavier and M. Meganathan, Fractional order alpha Laplace and Extorial transform by inverse difference operator, *AIP Conference Proceedings*, 2095,030016,2019.
- [3] G. Britto Antony Xavier and S. Jerald Pushparaj, Extorial solutions for fractional and partial difference equations with applications, *AIP conference Proceedings*, 2095,030004,2019.
- [4] S. John Borg, G. Britto Antony Xavier, S. Jerald Pushparaj, Extorial solutions for discrete and fractional difference equations of current flows in RL circuit , *Journal of Applied Science and Computations*, 6(1)(2019), 1–10.
- [5] T. Sathinathan, K. Vignesh, G. Britto Antony Xavier, Two dimensional second order Fibonacci summation formula with Extorial functions, Submitted, 2020.

ISSN(P):2319 – 3786

Malaya Journal of Matematik

ISSN(O):2321 – 5666

